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Answer the following questions. 6x5=30

1.

If (X, ) are the pairs of the variates defined for every unit (i =1, 2, ..., N) of the population and

X, and y, are the corresponding sample means of simple random sampling of size n taken without
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replacement, then prove that Cov(%,,7,) = (£ —%).75 > (X =

Compare the efficiency of proportional allocation with that of simple random sampling of the same

size. 6
(a) Define systematic sampling and illustrate the method of selection of a systematic sample. 3
(b) Explain briefly what is meant by ratio method of estimation and regression method of estimation.

3

Give the concept of probability proportional to size (PPS) sampling. Show that in PPS sampling
with replacement an unbiased estimator of the population mean Y is given by I%PPS = z y?
i=1

Hence obtain its sampling variance. 2+4=6

. Write short notes on any two of the following: 3+3=6

(1) Central Statistical Office (CSO)
(i) National Sample Survey Office (NSSO)
(i) National Statistical Commission




